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1. (30 %) Please find the unity-gain bandwidth for the following amplifier. [1,Co=
V= Vi =0.5V, and 1=0.05V"".
~ and all have ratios of 10/1.]

100pA/V?, pyCo=50pA/V?,

Please assume all transistors are biased correctly in the saturation region

+5V +5V

3. (30 %) The following circuit is a second-order low-pass filter. (a) Please find the transfer function
[Vou(s)/Vin(s)] in terms of Ry, R, C;, C,, and s. (b) Assume Cy=C;=100pF, please find R; and Ry such that
the filter is a second-order butterworth low-pass filter with a 3-dB cutoff frequency of IMHz.
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4. (15 %) Please draw the CMOS realization of (A(B+CD)Y’ without cascad

ing logic gates and with only A, B,
C, and D as inputs.

AR A




